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Part A: Read the following sentences, and choose the correct word to fill in the blank.

1. Within the last four decades scientist have seriously begun to study, understand and ............ what

goes on when we sleep.

a. demystify b. overlap c. induce d. abandon
2. Many people sleep little at night, but ............ their loss with naps during the day.
a. correspond b. deprive C. recoup d. pinpoint
3. These alone among the older gods were not .....c...... with coming of Zeus, but they took a lower
place.
a. banished b. ascended c. determined d. wished
4. The cloudless ............ stretches around it on all sides.

a. abode b. firmament c. divinity d. destiny

5. He should ............ bring about Psyche's ruin .No time could be wasted
a. immortally b. stately c. splendidly d. swiftly

6. They went in ............ grief, leaving the lovely helpless creature to meet her doom alone.
a. dirty b. doom c. despairing d. glorious

7. They sat at the rich ............ and heard the marvelous music.
a. alliance b. conference c. flask d. banquet

8. At thiS ceevvennnnn. moment she who had awakened no compassion in mortals or immortals, was pitied.
a. diligent b. jealous c. direful d. foolish

9. You would be a lost soul because you had ............ to have any knowledge of history.
a. anticipated b. compromised c. oriented d. ceased

10. It is only by remembering something of the past that we can ............ something of the future.
a. leave b. awaken c. omit d. anticipate
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11. One of the difficulties is choosing the design and fabric that will be suitable for your figure and

............ to your sewing skill.

a. bulky b. adaptable c. diagonal d. curved
| fabrics will reveal the figure.

a. Clingy b. Chunky c. Favorable d. Vertical
13."No problem," Epstein said quickly. "I'll ............ my fee."

a. clap b. waive C. assure d. nod
14."Can you .eeeevnnnee your toes for me?" Epstein asked.

a. paralyze b. wiggle C. recover d. hurt
| T together flour, baking powder and salt.

a. Cream b. Glaze c. Sift d. Mash
16. Then you can .....ccee... with silver dragees, nuts or chocolate.

a. blend b. scrape c. beat d. trim
17. The combination of darkness and shadows often ............ the creation of imaginary creatures.

a. foster b. abandon c. contrast d. qualify
18. Students then had to determine which nightmare they wanted to ............ for the job.

a. hire b. fill c. require d. promote
19. Burden-bearing on the head was similarly a feminine ............ in Indonesia.

a. accord b. brush c. trait d. comment
20. In speaking of foot travel, one may not ............ another important class of auxiliaries.

a. look after b. overlook C. pin d. suspend
21. By exercising, a person may ..eeeeeeesss as much as 80 percent of his physical abilities.

a. reduce b. fight c. discharge d. retain
22. A psychiatrist recommends a (N) ceeeeeneeens 15-minute walk whenever tension builds.

a. dramatic b. impressive c. flexible d. brisk
23. The cevveeennnns of Canada adheres to English common law.

a. remainder b. attachment c. language d. rally
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24. The province even has its OWn ..ceeeeeeee. land survey pattern.
a. sensitive b. distinctive c. jealous d. reserved
25. By the time the teacher discovers that his students do not understand him, the ............ moment for
modifying his presentation is gone.
a. humbling b. homogeneous c. critical d. variable
26. In the ............ classroom, each student spends the same amount of material.
a. significant b. detailed c. degrading d. conventional
27. The goal of man is to fulfill himself as a creative individual according to his own .............
a. challenges b. dividends c. potentialities d. inquiries
28. A girl combined the proper answers, made sure that the ............ and closing were in correct style.
a. labor b. salutation c. intricacy d. strike
29. But there is no evidence that Nero committed such .............
a. arson b. adherence c. imperial d. depravity
30. They are made of gold and silver ............ with gleaming gems.
a. bedecked b. expelled c. displayed d. offended

Part B: Choose the best synonym or definition for the underlined words.

31. You are not so small as I. And not half so spry. The underlined word means ............

a. lazy b. quiet c. pretty d. lively

32. The loud love of peace makes one quiver more than any cry. The underlined word means ............
a. turn b. tremble c. intend d. happen

33. Hitachi was worried about the possible repercussions on the company's reputation. The underlined

word means ...eeeeeee..
a. selections b. outcomes C. purposes d. comments
34. There is another bit of wisdom that directly contradicts the first maxim. The underlined word means

a. principle b. motivation C. response d. action
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35. The workers fail to respond to the prevailing system of money motivation. The underlined word

a. confusing b. original c. frequent d. irrational

36. When Bob Hope jests with a president, he doesn't make foreign policy a target. The underlined word

MEANS ceeerneennes
a. repeats b. jokes c. laughs d. supports

37. A few more hints: keep your material short and tell it slowly. The underlined word means ............
a. remarks b. abilities c. solutions d. interests

38. A remark has power only if you grant it power. The underlined word means ............
a. take b. let c. give d. go

39. Ten percent of time, even your best friend may say something thoughtless and regret it. The
underlined word means ............
a. cope with b.be interested in c. be sorry about d. shot on

40. We may start developing programs in which such behavioral relations are our objectives. The

underlined word means .....ce.....

a. components b. concepts c. ranks d. goals

PartC: Read the following reading selections and then answer the questions that follow them.

An old white-bearded man of 70 stood before the judges. He had been accused by three men of lack of
respect for the city gods. His sentence could be extremely severe. It might be exile or perhaps even
death. The man's name was Socrates, and he was one of the greatest philosophers the Western world
has ever known.

Although scholars are not sure, they think that Socrates was born in 469 B.C. His father was a
sculptor and his mother was a midwife, a woman who helped other women when they were about to
have babies. His childhood was spent during one of the most exciting periods in Athenian history.
When Socrates grew up he proved himself to be an intelligent and thoughtful man. Socrates was

disturbed by many ideas popular in the city at that time.

V)l f asae




N2

2yt (arﬂ.fjh (o) (i \S
M-AL I} Jeas
—i P 0 el 1Y e Sl Y pealis ST 5 il s (U
a3 ——ipupll A s 9a3T ) VAT 0 = ATAY PV o S bl = ol et 10039 98 5 Janans 4xd
@M Q215 ita 0503 yga3l —
FOWR 3 P s Kz i) eskicud (V) 2 gy S5

1. According to the text Socrates was .................. .
a. from a rich family.

b. interested in Athenian history.

c. accused of lack of respect for gods.

d. sentenced to death.

42. In line three, 'It' refers to .................. .
a.exile

b.sentence

c.death

d.city

43. Which one of the following sentence is FALSE?

a.He was accused of lack of respect for the city gods.
b.Judges sentenced Socrates severely.

c.He was the greatest philosophers in the Western world.

d.He spent his childhood during the Athenian history.

Because Maharishi is a monk, he feels he is "not expected" to think of his past. But he has one. Born
the son of an Indian forest ranger, he graduated in 1942 at the age of 24 from Allahabad University, but
instead of pursuing a career in his major (physics), he became a disciple of religious leader Sarawati
(Guru Dev) and was with the guru until he died 13 years later. Maharishi was left, according to legend,
with the job of developing a form of meditation for the common person. The result, which he
announced after two years of seclusion in the Himalayas, was Transcendental Meditation (T.M.).
Maharishi first taught T.M. in India, then brought it to the West, where there were "people who are in

the habit of accepting things quickly."
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44. In the line 3 'pursuing' means.................. .
a.continuing

b.expecting

c.developing

d.choosing

45. Which of the following is NOT TRUE of Guru?
a.He was a monk.

b.He was son of an Indian ranger.

c.He was educated from university.

d.He was interested in physics.

A46. It is implied from the text that .................. .

a. because he went to Allahabad University, he was not interested to his major.
b. because he became a disciple of Guru Dev, he did not pursue his major.

c. he stayed in the Himalayas to think about nature.

d. in T.M. people accept things quickly.

47. In line five, 'legend' means .................. .
a.job

b.person

c.thing

d.story

Sasakura Engineering introduces the Sasakura Pre-Treatment (SPT) unit, for use on board ships. Bilge

water, the water that collects in a ship's hold, is so full of oil and sludge that it must undergo preliminary

rreatment before it can be purified. The conventional machine for this purpose relied on gravity to do

1
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most of the work on particles in the water, but SPT unit makes unprecedented use of what is known as
the air-bubble floatation technique. A diffusing mechanism introduces bubbles into water. As they rise,
they collect oil and sludge, bringing it to the surface. The new machine is smaller and its process less
time-consuming than the conventional one. Moreover, it can be operated continuously and requires no
maintenance.
48. In line three, 'it' refers to .................. .

a.oil

b.bilge water

c.sludge

d.water

A49. It can be understood from the passage that SPT .................. .
a. separates sludge from the water.

b. collects the surface water.

c. purifies the bilge water.

d. separated the particles in the water.

50. In line five, 'unprecedented' means .................. .
a.exceptional

b.ordinary

c.beneficial

d.harmful
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